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I) 
Choose the correct answers






           (2 points)
1- The periodic variation in amplitude at a given point due to the superposition of two 
waves having slightly different frequency is called ________.
d) Reflection 

c) Transmission 

b) Beating 

a) Standing wave 
تداخل موجتان لهما تردد متقارب يسمي

2- For the two pulses shown in Figure, we refer to their

   superposition as________.

a) Beat 

 b) Destructive 

c) Constructive 

d) Resonance

     interference  

    interference

3- If two waves y1 and y2 are traveling to the right and have the same frequency, wavelength, and amplitude but differ in phase (Ø ≠ 0), we can express their individual wave functions as:
[image: image11.emf]
     The amplitude of the resultant wave is _________ .
a) 2A


 b) 2A
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c) A 


 d) 1/ 2A

4- A stretched spring, fixed at both ends, vibrates at a 
      frequency of 12 Hz with a standing transverse wave 
      pattern as shown. What is this spring's fundamental 
frequency (ما هو التردد الاساسي للنابض)?

	(a)
	36 Hz
	(b)
	16 Hz
	(c)
	8 Hz
	(d)
	4 Hz


II)
Two identical piano strings of length 0.750 m are each tuned exactly to 440 Hz. The tension in one of the strings is then increased by 1.0%. 

1- If they are now struck, what is the beat frequency between the fundamentals of the two strings?










(1 points)
…………………………………………………………………………………………
2- Find the average of the frequencies of the two waves 



(1 point)
…………………………………………………………………………………………

III) Two waves in a long string have wave functions given by:
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where k in rad/cm. Find:

1- The superposition of the waves (standing wave) [image: image6.png]Vi + Vs



 QUOTE  
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         (1 point)

…………………………………………………………………………………………

…………………………………………………………………………………………

2- 
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        (1 point)

…………………………………………………………………………………………

3- Determine the positions of the nodes of the resulting standing wave.
         (1 point)

حددي موضع العقد للموجة الموقوفة؟

…………………………………………………………………………………………
…………………………………………………………………………………………
VI) A string with a mass of 8.00 g and a length of 5.00 m has one end attached to a wall; 
the other end is draped over a pulley and attached to a hanging object with a mass of 
4.00 kg. If the string is plucked, what is the fundamental frequency of vibration?

…………………………………………………………………………………………
…………………………………………………………………………………………
…………………………………………………………………………………………
……………………………………………………….………………………(3 points)
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